EFFECT SIZES FOR t TESTS
One Sample t Test

d = Mean​diff
    or      d = __t__
         SD​diff                           √N


Paired Samples t Test

d = Mean​1​ – Mean​2​       or
η 2 = ____​t​​2____     

SD​diff   


          t2 + N – 1

*this info is reported under “Paired Differences”

**N = # of pairs


Independent Samples t Test


d = t      N1 + N2           or
η2 = ______t2_______     
        √     N1N2                                t2 + (N1 + N2 – 2)
These formulas are appropriate unless the standard deviations between the two groups are shockingly different (i.e., they cause “inter-ocular trauma”). There is no rule concerning how big is big in this case, it is mostly a judgment call. If you determine that the SDs between the groups are quite large, it is best to use the standard formula for d, where:

d = X – Y
or
 Y – X
        SDY                                   SDX

If one of the groups can be considered a control group, you should divide by the SD for that group.
